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MONTH OF OCTOBER 

TEST III 
 

UNIT - I GENERAL SCIENCE – BOTANY 
UNIT X – APTITUDE AND MENTAL ABILITY 

 
41. In class of 50, 23 were girls and the rest were boys. What is the 

percentage of boys? 
a. 54%   b. 13.5%  c. 27%  d. 46% 
50 Ngh; nfhz;l tFg;gpy;> 23 khztpfs; kw;wth;fs; khzth;fs; vdpy; 
khzth;fspd; rjtPjk; vd;d? 
a. 54%   b. 13.5%  c. 27%  d. 46% 
 
Solution 
 
Total number of student = 50 
 
Girls  = 23 
Boys   = 50 – 23 
  = 27 
 

Boys %  = 27
100

50
  

  = 27 x 2 
  = 54% 
 

42. The population of a town is increasing at the rate of 6% p.a. It was 238765 
in the year 2018. Find the population in the year 2016 
a. 225637  b. 268276  c. 212500  d. 220045 
xU efuj;jpd; kf;fs;njhif Mz;Lf;F 6% mjpfhpf;fpwJ. 2018Mk; Mz;L 
kf;fs;njhif 238765 Mf ,Ue;jJ vdpy;> 2016Mk; Mz;L 
kf;fs;njhifiaf; fhz;f 
a. 225637  b. 268276  c. 212500  d. 220045 
 
Solution 
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Let the population in 2016 be ‘P’. Then 
 

A  = 1
100

n
r

P
 
+ 

 
 

2
6

238765 1
100

P
 

 = + 
 

 

      = 
2

53

50
P
 
 
 

 

 P   = 50 50
238765

53 53
   

      = 212500 
 

43. Roja earned ₹18,000 per month. She utilized her salary in the ratio 2 : 1 : 
3 for education, savings and other expenses respectively. Express her 
usage of income in percentage. 

a. 1 2
33 %,16 %,50%

3 3
  b. 2 1

16 %,50%, 33 %
3 3

 

c. 2 1
16 %, 33 %, 50%,

3 3
  d. 2 1

33 %,16 %,50%
3 3

 

Nuh[h khjr; rk;gskhf ₹18,000 Ig; ngWfpwhh;. mth; jdJ rk;gsj;jpy; 
KiwNa fy;tp> Nrkpg;G> kw;Wk; gpw nrytpdq;fSf;F 2 : 1 : 3 vd;w 
tpfpjj;jpy; nryT nra;fpwhh; vdpy;> mtuJ nryitr; rjtPjkhff; $Wf 

a. 1 2
33 %,16 %,50%

3 3
  b. 2 1

16 %,50%, 33 %
3 3

 

c. 2 1
16 %, 33 %, 50%,

3 3
  d. 2 1

33 %,16 %,50%
3 3

 

 

Solution 
 

Amount of salary = Rs.18000 

 

Total number of parts of salary = 2 + 1 + 3 = 6 
 

Salary divided into 3 portions 2 1 3
,

6 6 6
and  

 

Usage for education = 2

6
 

  = 2
18000 .6000

6
Rs =  

 

% for education = 6000
100

18000
  = 1

33
3

% 
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Usage for saving = 1
18000 .3000

6
Rs =  

 
 

% for saving = 3000 2
100 16 %

18000 3
 =  

 

Usage for other expenses = 3
18000 .9000

6
Rs =  

 

% for other expenses 9000
100 50%

18000
 =  

 

 1 2
33 %,16 %,50%

3 3
  

 
44. The common fraction of 1/2 % is 

a. 1/2   b. 1/200  c. 200/100  d. 100 
1/2% ,d; nghJg; gpd;dk; 
a. 1/2   b. 1/200  c. 200/100  d. 100 
 
Solution 
 
Common fraction of 1/2% 
 

 = 1 1

2 100 200
=


 

 
45. Arun’s income is 20% less than that of Anand. How much percent is 

Anand’s income more than Arun’s income? 
a. 20%  b. 15%  c. 80%  d. 25% 
mUzpd; tUkhdk; Mde;ij tpl 20% FiwT. mUzpd; tUkhdj;ij 
tpl Mde;jpd; tUkhdk; vt;tsT rjtPjk; mjpfk;? 
a. 20%  b. 15%  c. 80%  d. 25% 
 
Solution 
 
Given Arun’s income is 20% less than Anand’s income 
 
Let Anand’s income = x 
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Arun Income = 20

100
x x−   

  = 1

5 5

x
x x x−  = −  

  = (5 ) / 5 4 / 5x x x− =  

 

Difference = 4

5 5

x x
x − =  

 

 % = 5 100 25%
4

5

x

x
 =  

 

46. Simplify: 
2

2 4

16 10 64

4 2

 


 

a. 800  b. 640  c. 420  d. 400 

RUf;Ff: 
2

2 4

16 10 64

4 2

 


 

a. 800  b. 640  c. 420  d. 400 
Solution 
 

( )

2

2 4

2 2 3

2 4

2 2 3 2 4

3 2 4

3
2 2 4

6 2 4

2 2

16 10 64

4 2

4 10 4

4 2

4 10 4 4 2

4 10 2

2 10 2

2 10 2

2 10 4 100

400

− −

−

−

−

 



 
=



=    

=  

=  

=  

=  = 

=

 

 

47. The Value of : 15 5 1 10

16 6 2 11
of
 

−  
 

 

a. 11/32  b. 32/11  c. 10/11  d. 33/96 
15 5 1 10

16 6 2 11
of
 

−  
 

 ,d; kjpg;G 

a. 11/32  b. 32/11  c. 10/11  d. 33/96 
 
Solution 
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Solution 
 
15 5 3 10

16 6 11

15 2 11

16 6 10

15 11 11

16 30 32

− 
  
 

 
=   

 

=  =

 

 
48. Simplify (RUf;Ff): 3 3 32 40 3 625 4 320+ −  

a. 3 5    b. 0  c. 33 25   d. 33 5  
 

3 3 3

3 3 33 3 3

3 3 3

3 3 3

3

3

2 8 5 3 125 5 4 64 5

2 2 5 3 5 5 4 4 5

2 2 5 3 5 5 4 4 5

4 5 15 5 16 5

(4 15 16) 5

3 5

 +  − 

=  +  − 

=  +  − 

= + −

= + −

=

 

 

49. If 1 2x = + , find 
2

1
x

x

 
− 

 
 

a. 3  b. 4  c. 1  d. 2 

1 2x = +  vdpy; 
2

1
x

x

 
− 

 
 ,d; kjpg;G fhz;f 

a. 3  b. 4  c. 1  d. 2 
 
Solution 
 

( )
2

2

1 2

1 1 1 2

1 2 1 2

1 2 1 2

1 21 2

x

x

= +

−
= 

+ −

− −
= =

−−
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( ) ( )

2

2

1 2
2 1

1

1
1 2 2 1

1 2 2 1 2

1
(2)

4

x
x

x
x

−
= = −

−

− = + − −

= + − + =

 
− = 

 

=

 

 

50. The value of (6 6 6 6) 6

4 4 4 4 4

+ + + 

+ + + 
 

a. 1   b. 3/ 2   c. 4 /13  d. 6
3

13
 

 kjpg;G fhz;f: (6 6 6 6) 6

4 4 4 4 4

+ + + 

+ + + 
 

a. 1   b. 3/ 2   c. 4 /13  d. 6
3

13
 

 
 Solution 
 

  24 6 4

12 1 13


= =

+
 

 


